ETEV.LT 0 0 0 0 0 0 VE6EE 0 09€€ ¥/.G0€ |6LE0VT | CES90T CELT STTCE |.T-9T0C | OT
LA L4 0 0 0 0 0 0 V6E€TS 0 8909 9¢eSYy |0ETO6T | TerIvT 000¢ 60.9% |9T-STOC| 6
88671 0 0 0 0 0 0 966V¢ 0 1.1V 6180 |cCS8VPT1T| /1/.8/8 6.6 966G¢ |ST-VT0C| 8
816291 0 0 0 0 0 0 V1Y 0 0¢tv9 9¢/S€ |2ll0CT| V1668 6EST 6TE6C |VI-E€T0C| L
929¢61 0 0 0 0 0 0 ovTec 0 66.V Tveve |98V VST | vv.6TT 9¢6 9T8EE |ET-CT0C| 9
2.168V¥¢ 0 0 0 0 0 0 ¢S9.v 0 1101 74°] 6vZ¢iy |0CET0C | LOT8ST GE0C 8/TTV |CT-TT0C| S
0699S¢ 0 0 0 0 0 0 G829 0 9819 66/.6€ |S0E0TC | ¥S6¢9T 990¢ G8¢Sy |TT-0T0C| Vv
80v/.¢cc 0 0 0 569 569 0 9ELTY 0 .69 9.V |LL6V8T | 69ETVT T/8T /€.TYV |0T-600C| €
786€9T1 0 0 0 0 0 0 0€80¢ 0 7609 9€/V¢ |VSTEET | 09086 1€2CT /G8EE |60-800C| ¢
687€0¢ 0 0 0 0 0 0 6€8¢E 0 ¢S99 /8T/.¢ |0S90LT | vCECET 8¢0¢ 8629¢ [80-200¢| T
LT 9T ST VT €T ¢l 1T 0T 6 8 L 9 S 14 € 4 T
(9T+€ |(gT+pT) | 40199uM | 19199UM |(ZT+TT)| J0199UuM | J9199UM 19[@auM | 18@auym | 1e@aum 18Py | 1oi@aum | 1o190um
T+0T+9)| reroL | eouyL ino4 ol | eeuyL inoq |(6+8+1)| omy LI inoq |(G+7+€)| omy 294yl o4 reax "ON
[e1og [eiol [eiol 'S
puRID S9I01USA OND S9I01USA Od1 S9I0IUBA 195910 S8|01YaA [0419d

ALID dNdIVE NI d3NSSI - S31VOIH4I1d30 ISIM dVv3IA

S31VOI4ILd3D T0d.LNOD d3dNN NOILNT10d

€L 9lgel

99




